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Time:0



Choose the mcorrect statements regarding definition of Living
A. Cell division replaces lost cells in certain tissues
B. In living organisms growth is from outside
C. Metabolism is sun total of all chemical reactions occurring in the living organism

D. In Unicellular organisms reproduction is not synonymous with the growth
200tV A LITRE H0D0H0D NOTR) T EDIOND o) Tl

A, §9) $zrerod §SHod TR §6 DeEsen 0 Darom

B. 23508 HHEO Fenad) oD 28He0d

C. BHOS 26T GarodAS B850 TR B35 @oerd

D. D880 2O 1580565188 DD EO HTEAH0 T
Options :

A, C

Question Number : 2 Question Id : 4509385602 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the correct matching

List A

ListB

[ | Monera Cell wall absent

II | Ammalia Non cellulosic cell wall

Cellulose cell wall

A
B
I | Fungt | C
D

IV | Plantae Cellulose cell wall with Amino acids

E | Cellulose cell wall without Amino acids
DO 250 3R Ded) Faeld
HEE A HEE B

I | o A | $ea83t9e50 GO

I | 206 T3¢0 | B | enseS 2 62red §eadainiain

[ 3ogren | €| dengSe Sy

V| 508 o250 | D | e esolr e 468 RensS 2 Eeadssisem

E | &9 eoered enseS s Gereh Seadeicdednd

Options :

I-A II-E 1II-B IV-C
1. %

I-E II-A III-B IV-C
2. %

I-D II-g  II-B  IV-C
3. %

I-D [I-A II-B IV-C
4. &

Question Number : 3 Question Id : 4509385603 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct sequence of plants which help in production of biofertilizers, medicines and protein

food.
855 DY, 0D HOOKD (P eFbun teh 18 ST NBS o
230 (800

Options :

Belladona, Aloe, Withania

FOGT ¢S, Drdalre

1. %

Nostoce, Datura, Chlorella

2. ¢

Chlorella, Datura, Nostoc

§6er Sehoe s

Nostoe, Anabaena, Rhizobium

T @5DeS BeSDavo
4. %

Question Number : 4 Question Id : 4509385604 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Choose the incorrect statement related to life cycles

I Sporophyte generation is represented by a single celled zygote

. Gametophyte is multicellular in Ptenidophytes and Gymnosperms
II.  Life cycle is diplohaplontic in Bryophytes
IV.  Life cycle 1s haplodiplontic in Pteridophytes

A6 HITOH N00H0D NOFTR a5 D) 5ol
L 8% DB oans Dz DEDRE I8 FrBAG0 By
I DO e HB0M Doy oS HoTrH Dt 2avies 60
I R3rRE0 o B Bidkn 500 % Vo
V. OGO O B i 8- 5aH Do

Options :

I II

IT. 11T

. IV
L

I, Ul

Question Number : 5 Question Id : 4509385605 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

These are the roots in a sequence fo absorb moisture, support, water minerals from other plants

BoeD 1P, Srords. A SO DAZ OIEPOD TS F0EO Dok
SNET DO & DD ST BOLPON



Options :

Nodular roots. Haustorial roots. Stilt roots

A B0, FFEOHS S, dres FE

1. %

Velamen roots. Stilt roots. Haustoral roots

SerDnS D, e I, SPO0HS I
2.

Stilt roots. Prop roots. Haustorial roots

eRed I, E3ch D, SPFOOHO I
3. %

Pneumatophores. Prop roots. Stilt roots

F°5daNTETEN), E3ch D, Ered T
4, %

Question Number : 6 Question Id : 4509385606 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



These are placentation types based on the attachment of ovules with in the ovary as given below

* Ridge

o Inner wall of the ovary

* Base of the ovary
& B9 VoS @omdHosS women eehE)S)Lond, @odard d5e
TSR o T AR OW

OOV

o @OmIoho &) e

o @oEdobo aderio

Options :

Marginal. Parietal. Basal

&arocs, Bochs, G
1.4

Axile. Parietal. Free central

@08 a%, Bocss, ™ ST S018

Basal. Axile. Marginal

58, @98 0%, &roeh

Marginal. Axile. Basal

&aroeh, @8 ah. Hd

Question Number : 7 Question Id : 4509385607 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Angiosperms arrange the events of pre fertilization/post fertilization in a sequence,
235596 D20 HOBESETIE N0 HOOEGETE e séh 26T @oF©D HK

55506 @8 3050
Options :

Sporogenesis — Spores/Gametogenesis — Gametes

G023 2380 — DB N/HOBRHDBRSS0 — SOTRID e

fr]

Gametes — Syngamy/Embryo — Endosperm

HOTWFHADTeN — HOONE SOTBFHO/DOB0 — 90FGEIIG0

Gametogenesis — Gametes transfer/Zygote — Embryo

HOBINID 22350 — HoTFIDere O HookwE a0 — Dot
3. v

Spores — Gametes/Zygote — Embryo

285Deren — SOV Dezen/ Hodsng Do — OGO

Question Number : 8 Question Id : 4509385608 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A mother plant having 16 chromosomes produced ovules and undergone megasporogenesis then

the ploidy of nucleus of A. B. C. D5
16 S3rEm) 03 Srédy T ©omod G6)Y Tash ook

TOR0RE8508 HOTIE, @ A, B. C, DS 301¢5% V& aPond SO

A
B
C
D
Options:
A:l6 B:16 C:8 D:16
1. %
A:lé B:16 C:8 D:8
2 %
A:l6 B:32 C:8 D:8
3. %
Al6 B:8 C:16 D:8
4. &

Question Number : 9 Question Id : 4509385609 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



- O & 265800 08 )
- B0 0TS
I - )20 0PSO
Options:
I- Hutchinson: Phylogenetic I- s DR: QDS
II- Bentham & Hooker: Natural | II- 2305070 & <Y080: D523
ITI- Linnaeus: Artificial IMI- T 0 §e3e
1.¢
I- Linnaeus: Sexual I- OFT)abR:; Boh
I1- Hutchinson: Natural II- o0 Or: e
II- Bentham & Hooker: Artificial | ITI- 2305720 & J0ED: £330
2. %
[- Theophrastus: Sexual I- HAP@rYe: oS
II- Linnaeus: Natural - O ANR: Do
ITI- Engler and Prantl: Artificial | 171- D}Ofig NMeIoWY @"Oﬁ)é: AT
3. %

The author and classification followed in the below mentioned books

[- Families of flowering plants

IT- Genera plantarum

IIT - Species plantarum

& BB 8 |Hogre T3nE) STHonsen SHBok 8N800 H085e

®




I- decondolle: phylogenetic | I- & Z0&: 555338”@

II- Hutchinson: Natural e Sa S,

III- Linnaeus: Artificial - O 0NV ALY

Question Number : 10 Question Id : 4509385610 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the cell organelles present in animals and absent mn plant cells. present i plant cells and

absent in animals, present in only prokaryotes

208 $005 SESD G06 HOS B, HLOS SMGD Gob,
200I0S BN, 0|08 B80S SFe &oa Seromeh HBowey

Options :

1.

Centriole, Cytoskeleton. Inclusion bodies

O3, 8 @DH02380, 90T §F°EN

\;’4)
Axoneme. Flagellum, Mesosomes
&35° 1000, 7250, DFF 0
%
Ribosomes. Plasma membrane. Flagellum
BP0 en. e éb 5250, 77250
%

Fimbriae. Flagellum. Mesosomes

DO, 877250, DD N

#®



Question Number : 11 Question Id : 4509385611 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Assertion (A): Satellite 1s a small fragment like structure found in some chromosomes

Reason (R): It is a non staining secondary construction at a constant location

DB (A): FEBO ©9HIO §) SIFDOS 2.8 D) 20dS0 erod
PARALO)
S22 (R): 00 T 90 8G0RSR) |1EPoIRE 65809 H0te0
Options :
A and R are correct. R is the correct explanation of A

A DO R 8D, R @ada A 350 Q80D aedded
1.

A and R are correct. R is not the correct explanation of A

A 358050 R DT, R 9050 A S50 HBTS D380 5°¢

A 15 correct but R is incorrect

A SBTDSE 59D R HOTDSE 57

A 15 incorrect but R 1s correct

A SBTDSE 59D T R HOTPSA
4. %



Question Number : 12 Question Id : 4509385612 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The number of Guanmes and Adenines present m the DNA molecule of pitch at 170° with 130

Hydrogen bonds between base pairs

170° NG &, SRS 098 130 BB 20TOD SR DNA @Y D TS

OO DB © OV
Options :

20, 10

10. 30

Question Number : 13 Question Id : 4509385613 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The total number of metotic divisions that occurred i a flower of malvaceae. which has 60 stamens

with 25 microspore mother cells m each sporangium and 25 ovules in each carpel
2575 G Depdohod 25 8 DD D3 Sregered RS 60 do Saen
D000 2,528 HOGE0ES 25 8OO $DRS B A0S 267 § hEse

DB NODE

Options:



200
%

, o 3125
L x 3400
. w 265

Question Number : 14 Question Id : 4509385614 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion [A] : Buds present in the axils of leaves are capable of forming a branch or a flower

Reason [R]  : Axillary buds are constituted by the shoot apical meristems
)60 [A]: Inffen HBATOS G0k 2.8 TP B a8 xR
266 HERON

SGLOR]  : (eday Tofen (D500¢h @1 Darass §e2rs5n ok S8 )N

Options:

A and R are correct. R is the correct explanation of A

A DBAM R 8D, R @008 A 580 Q8QD0 D586
1.4

A and R are correct. R 1s not the correct explanation of A

A NOCN R OGN, R @G A OB QB8QHA Dedded oD



A 1s correct but R 1s incorrect

A HOTDIO 5 R HOTSE 595

A 1s incorrect but R 1s correct

A SBTHIE 55 5 R HOTDSE
4, %

Question Number : 15 Question Id : 4509385615 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Match the following

List A ListB

[ | Petiole of leaf | A | Intercalary meristem
II |Leavesoftea | B | Phloem fibres
IIT | Flax C | Sclereids
IV | Grasses D | Collenchyma
E | Parenchyma
£ 1500 A 23T
H38 A ALS:
I [ Dehd0dad | A | sDEse darasSeaarersin

I | S05rs JEeen | B | 988 $ere Trden

I | 3§ C | CpcSeen

IV i@ Swgen | D|rexse Soeredn

E | a0pCd 5ea23reod

Options :



I-E II-B III-C IV-A

I-E In-¢ 1I1II-B IV-A

2. %

- II-C 1III-B IV-A
3.¢¥

I-b II-B IHII-C IV-E
4, ®

Question Number : 16 Question Id : 4509385616 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Identify the Anatomical structures based on these following characters given in a series
¢ Lysigenous cavities in the vascular bundles
¢ Conjoint. open and endarch protoxylem in vascular bundles
 More number of stomata in abaxial epidermis
25005 Aa) 520G DS ©8 £e) STrBom e0658), 076 2O HE0THN
o TITH0TOS oD BePTreN
o TV 90O HOOE, N6, ©0E (DB RS NG Y

o 27T 960 BNE, Gard S00S ®BEN0RsS i olTen

Options :

Monocot stem. Dicot stem. Dicot Leaf

DECSF ez 500, B 223 5200, BB a3 Do
1.¢



Monocot root. Dicot root. Dicot Leaf

DECSY Daz B, BEF D I, B D H|eho

#®

Momnocot Leaf. Dicot Leat. Dicot stem

DB D2z D0, B ez D|evo, HY ez 50O
3. %

Dicot stem. Dicot root. Monocot Leaf

& 565 ez 520850, O3 Dez Ty, DEAT ez Hiedo
4. %

Question Number : 17 Question Id : 4509385617 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Options :

1.

3.

4.

“;\.?/

I-D

ListA List B
[ | Tolerate salinity | A | Tribulus
IT | Anid zone habitat | B | Casuarina
I | Drought tolerant | C | Opuatia
IV | CAM plant D | Rluzophora
E | Vallisnaria
%1806 JEBO BSHDTVSM
HEE A HEE B
I | @96 &) HENFTE Al 8o
I | Hady (2r0eda) S0 B | 520w
I | 22677279 DO HEPTREA | C | 2,005
IV | CAM J0%), D | &'eror
E | 23005
II-A 1II-B IV-C
II-E OI-D IV-C

#®

#®

I-B

I-D

[-D

n-B HmI-E IV-C

I1I-C

II1-B  IV-E




Question Number : 18 Question Id : 4509385618 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion [A] : The species that invade a bare area are pioneer species

Reason [R] : In primary succession lichens or Phytoplanktons invade rocks and water

respectively
3365630 [A] : 20238 ATDS NS BaPReid AGIHHER FNEOM
[P002555) INELEN WOEFD
SOROR]  : ErEONE ODEDNS PG I0EENT T8 BES e B

D330 398 a5EN GOLTON
Options :

A and R are correct. R 1s the correct explanation of A

A HBA R 8D, R @9c0E A 2080 Q8D i
1.

A and R are correct. R 1s not the correct explanation of A

A SHBAM R BTN R @9e0aIE A 581 880D DadBed 5°¢
2. %

A is correct but R 1s incorrect

A SBTDIE 5 R HOTIE 5°¢0

A 1s incorrect but R is correct

A SBTDHE 57D T R HOTPSD

Question Number : 19 Question Id : 4509385619 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Study the comparison of different transport mechanisms to pick out correct pair i the following

format

508 SXrareS DS Barer O5ro|@5e 55 FOLO @B5oh0 B 96

2650 e ) SNl

Property | Sumple diffusion | Facilitated Transport |  Active transport

GO | 0% D08 | wodad drar | Sy e

Options:
Requires ATP energy | No Yes Yes
ATP 48 @3380 | B GO0 06
1. %
Uphull transport No No Yes

DT B | BEsD GO0/

OTET
2.«
Transport saturation | Yes No No
S &0 BIAVEYAY RlAVETAY
EVOT APV T

3. %



Require special Yes No No
membrane proteins

105 b5 &GO BH

G
X

50 ©58580

Question Number : 20 Question Id : 4509385620 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Correct equation of water potential of a cell

£600 Q€3 35050 HB8TDS HanEBE0

Options :

P = +Fpp
1. %

P =%
2. %

Yo =¥+ %
3.¢¥

P = ¥ + Py
4. =

Question Number : 21 Question Id : 4509385621 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Essential elements like Nitrogen. Phosphorus. Potassium are supplied fo plants growing in soil
through
128, 27 560, SPEFROH0 03 S0V resen TS DO Ik ok &

Gdorr SEHT TohaceEron

Options :

Irrigation

DE3 P e

1. %

Root exudates

i} 2 [PTLeN
2.

Fertilizers

_— NIeVIN TSN

Ammospheric deposition

, TS0 QS D
4.

Question Number : 22 Question Id : 4509385622 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The element which 1s important in determining solute concentration and oxygen evolution

[TOTO T ATE0tHEF HBOKN 8120 AHAOT NP POE0

Options :



Zing

2208

Nickel
JBO

Chlorine

Yol

Question Number : 23 Question Id : 4509385623 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

|rxr|

‘ Enzyme
CO, + HED - H,CO4

Identify enzyme “X”

Options :

Carbonic kinase

50308 3785

1. %



Carbonic anhydrase

5805e3® 3 TS

Carbonic peroxidase

i 50305 o8BS
3,

Carbonic catase

5538 s Ses

4. %

Question Number : 24 Question Id : 4509385624 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In Calvin cycle the ratio of trioses formed. net gain and used to regenerate RUBP.

5658 HO00S DA [HTFE . AEG ere50 HOKM RUBP yedchtieady
GROTNOIGN a3 Kss A

Options :



Question Number : 25 Question Id : 4509385625 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify A. B. and C in the given Hatch and slack pathway.

AR oD DO 5 D0 NOD A, B, OGN € & MH8o0b

Atmospheric CO:

aremalee CO:

I yard pirdd

Mesophyll cell A A
=08 S0 "L. e —‘
@ © ciacid
. o
‘ Vi Acid A LEARR0
I b LA
Cetaen0 Crdoaho
Bundle sheath cell :
. _ v Cs cycle
Doz N A
Sfh S0 € ’ A:’_Id i COn
J G 1 Cy &4200

— =i Acid

®

Options:

A —Fixation

A-THS B-HAGB C- ¢ 5o78)8A0

B — Regeneration C — Decarboxylation

1. %
A — Regeneration B —Fixation C — Decarboxylation
A-DSDPBE B-THS  C-G507)8)BA8
2. %
A — Decarboxylation B — Regeneration C — Fixation
A-G50EBAS B- 9303 C—rdd
3. %

4.+



A —Fixation B — Decarboxylation C — Regeneration

A-THS B-H507)EIBAS € - HABSE

Question Number : 26 Question Id : 4509385626 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Ratio of ATP produced i Kreb's cycle per one acetyl CO-A molecule by substrate level

phosphorylation: NADH: and FADH) respectively

525 SO0 2.8 @BE C0-A B0 H00), BN g Tow BB,

NADH 8050 FADH, & 507 €65 )63 o2 ATP © Q)8 S

Options :

Ik
o
I--2

-2
(3]
=]

Question Number : 27 Question Id : 4509385627 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In plants Growth rate 1s expressed in Arithmetic and Geometric growth equations

IMHOS AN Beudd 0¥, ek DD GO AT

SEBeren

Options :

Lﬂ == W]_E?Tt

Wﬂ = LD + 1t
1. %

Lt = Lﬂ 307 i

W]_ = W{}Ert
2.

Wﬂ 5= Wlert

L(} = Li? e 53
3. #

L'ET — Wﬂ +rt

W[l = L[] + ert
4. %

Question Number : 28 Question Id : 4509385628 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Nitrosomonas 1s a Chemoautotrophic bacteria

Reason (R): Chemoautotrophs derive energy from sunlight and carbon from CO, .
A5 (4): DS FITTR 2.8 GrroDHE 3 50H0sFNS 2r§B0Sr.
SOE0 R): Garahod @ johosfaEren 480 ard;dd) How BN FE)0 &

C0, oW groco@row.



Options :

A and R are Correct and R 1s the Correct explanation of A

A NOAIN R DODAD. R @00 ADE 83D DadBed

A and R are Correct and R 1s not the Correct explanation of A

A N80 R DB8GHAN. R @D AcdE) Q8D adbEd 5°¢H

A 15 Correct but R 1s incorrect

A JEBDIE @S R HODHE S°¢H
3.¢

A 1s incorrect but K 1s correct

A HEADGE 5°¢H oW R SOAHOE

Question Number : 29 Question Id : 4509385629 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Genetic nature of TMV 1s RNA was confirmed by

TMV 208000 & 2273 RNA T QT %62 5°R00S0
Options :

Stanley

T

1.



Beijjerinck

. 2322808

Frankel Conrot

O8O TRT™Ed
3. %

Iwanowski

RIS

Question Number : 30 Question Id : 4509385630 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Choose correct pair from the following

1 |ReYy | 4/16
II [Reyy | /16
I | RiYY

)

/16

IV | Yy | 1/16
QD) 25230 (808 30D )edd) Fadradn
I |RiYy | 4/16
I |Reyy | 1/16
III | RrYY | 2/16
IV | Yy | 1/16

-

Options :

I. III
1.¢



H, IV

IIL, IV

Question Number : 31 Question Id : 4509385631 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The number of recombinants in the 1280 progeny obtained through dihybrid cross of Mendel n F

generation.
06 B39088 08660 B0k SE0SR 1280 HoSAS Y0TrBTEN
O3

Options :

240

Question Number : 32 Question Id : 4509385632 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
Diagram represents central dogma of molecular biology. Choose the correct labelling of “X” and

R Replication

@ > mRNA — > Protein
.GX"‘ Y

0[50 @I S0|8 VT0H0 oD AP0

B gheSédeo
(Bt > mRNA —— > 9

HX\!

X B0 “Y” SO BoA Jocwsod
Options :

Translation Transcription

900 9D BWS0

Translocation Transcription

TOP0BGEINN  @NBPI0

2. %

Transcription Replication

e NBPI0 & 5He38 B0
3. %

Transcription Translation

@ DBPIHO D0
4.

Question Number : 33 Question Id : 4509385633 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time

Time:0

Identify A and B in the diagram given below

180D 202/ DSOS A O B & H8odhob

o
-

B

(-
-

AUG
UAC

&FErd  UCA Anticodon
il ) AGU codon
G-

Options:

A= Valine B= Lysine

A=  B=Bdd
1. %

A= Serine B= Glysine

A=DS B=T00

2. %

A=Serine B= Tyrosine

A=2BS B=BTD
3.¢

A=Proline B= Serine

, A= IS  B=0®
4,

¥

: N.A Minimum Instruction



Question Number : 34 Question Id : 4509385634 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Primers are used i polymerase chain reaction techmique

Reason (R): Primers is used for the addition of new DNA nucleotides
DB (A): 200 €0 arONTE TS 808 & rodeisS AREATH
SUE0a30 (R): (2600 €0 5 DNA ArsSG3rHk O BEIFTRE GGrid d.

Options:

A and R are correct. R is the correct explanation of A

A DEAN R AOQDND. R @adE A S50 80N aedded

1. &

A and R are correct. R 1s not the correct explanation of A

A 38050 R HBTDED. R @90 A %1 HOTDS DH3Ged 595
2. %

A 15 correct but R is incorrect

A DOTHXE S R HOTPSE 520
3. ¢

A 1s incorrect but R 1s correct

A HBTDSO 59 5 R IOTHIO
4. ®

Question Number : 35 Question Id : 4509385635 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Arrange the following in correct order in polymerase chain reaction cycle
[ Deannealing

II Denaturation

[T Extension

IV Annealing

P08 Towd B0irE & B0 B 3R HBW (5006 @08y,
I &a0Hd0h

I Jarseraddeno

I 0wy

IV 236001350

Options :

Io-III -1V
1. %

I-II-1I1
2. %

I-1IT-1V

Im-1V-11
4.

Question Number : 36 Question Id : 4509385636 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify wrong statement of the following

€55 55 HhloHod



Options :

Bt. Cotton show resistant to virus

BED ©50 B, D DESES 5ryed
1. ¢

Transgenic Potato show resistant to Phvtophthora

2238 HBAIEE DOMTHCENON DETTTH DB Ee T

Transgenic Papaya show resistant to ring sport virus

200§ H85868 7100 B0 )8 FER Bo DBEHES T 5yed

Transgenic Tomato show resistant to Pseudomonas

22008 HONIBE T ET B 0 B0 DO Eed AN

Question Number : 37 Question Id : 4509385637 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Bacteria used to produce human msulin chains

SS9 20 IOS FenDO Eeh 18 TAne% SHEFH0H 2r§BoH D
Options :
S. tvphimurium

° Borzf8ahaD

1. %



E. coli

o). 8
2.

A. tumefaciens

&, A DA
3. %

B. thuringiensis

2 c3022a0) )0
4, %

Question Number : 38 Question Id : 4509385638 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Identify correct pair of variety crop developed for resistance to the disease.

568 DL §B5 @)D TR S01icssy SBhHon 26 hHBodod

Options :
Pusa komal - Bacterial blight
L FITHS - 2§80 BE
1. ¢
Pusa sadabahar -  White rust

T ATASIO - BL B0 Sihen

Pusa swamim -  Tobacco mosaic virus

e,

e 0580 - SPTEL Bwerans I8



Pusa subhra -  Chilly mosaic virus

P DS - A0BD Swerons B
4, %

Question Number : 39 Question Id : 4509385639 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Assertion (A): By mutations genetic variations are created resulting in a new trait not found in the
parental type
Reason (R): Plants having desirable characters will be selected after inducing mutations with
chemicals or radiation
DI (A): €565 1B5GRTE) T 5T Beds BATLOD DYeF 258 G50 B 56
O5 FOND R0
50569000 (R): SrODTEN B N8GTO T 500 &6 00T |00,
FOBV0DH OF EFeN o) IO J0NE TSN

Options :

A and R are correct. R 1s the correct explanation of A

A SHB05) R HBTDS. R 89088 A S50 HBTS De5e
1.4

A and R are correct. R is not the correct explanation of A

A BN R HOTHSD. R 9050 A 3% DTS Dt3en ¢

A 1s correct but R 1s incorrect

A SBTDIE 5 R HOTSE 5°¢0



A 1s incorrect but R 1s correct

A HBTDSE 59D T R HOTZSD

Question Number : 40 Question Id : 4509385640 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

Table I Table II

I | Aspergillus | A | Lactic acid

IT | Acetobacter Butyric acid

B
IIT | Clostridium | C | Acetic acid
D

IV | Lactobacillus Citric acid

508 e33R 250NN

3 %
I | s)000 |A|erSS esdo
I | @d¢°ars6 | B

Il | sYpBavo | C | 92638 essho

20§(¢35° €30

IV | 78 2rd@R | D | 21¢35 essho

Options :

I-D I-A 11 -B IV-C

1. %

I-C In-D Imnm-B IV-A

I-D m-C II-B IV-A



I-D Im-c III-A IV-B
4, %
Zoology
Section Id : 450938120
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Is Section Default?: null

Question Number : 41 Question Id : 4509385641 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The term Organic Evolution was coined by

2353 DBETN0 BT VDD [(DBIEO0D D
Options :

Charles Darwin

©°00 @850

1. %

Lamarck

3330},
2_ e



Herbert Spencer

22838 28536
3. ¢ '
Linnaeus
AT OOV
4, %

Question Number : 42 Question Id : 4509385642 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

It 1s the measure of the overall diversity for different ecosystems within an ecological region.

28 A BTS8 HoBe0S DG BFNdn ST o D)

B8,009¢%0 50 HAA Fenrrd.

Options :

Gamma Diversity

TodX® adI50
1.4

Beta Diversity
. D> SN0

Alpha Diversity

ser) SIS0

Delta Diversity
ey 358363



Question Number : 43 Question Id : 4509385643 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Assertion (A): Circulatory system of arthropods and molluscs 1s manly open type

Reason (R): Blood pumped out by the heart 1s circulated through a series of blood vessels in them

D)0 (A): & TFE €0, HORY O 88 DB 53059 SDWIOTT Dedgeh G50

680 (R): S 10T 0 H05 TEHaT 850 88 Tere) o 0 [He3era 008,
Options :

Both A and R are true. R is correct explanation for A

ANBOM RARO.ASR QDA Dadea
1. &

Both A and R are true. But R is not correct explanation for A

A HBCIN R AR0. 55 A SR 00 a)eddea 57D
2. %

A 15 true. But R 1s false

v A D230, 5% R 0230 5°CD

A 1s false. But R 1is true

4w A QB0 5. 5% R 20

Question Number : 44 Question Id : 4509385644 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Pick up the correct answer regarding the enterocoelomates

e30|¢ 400 50578 )80 D0D0H0D AT BT Hohodk.
Options :

Enterocoelomates are deuterostomes and they show radial and indeterminate
cleavages

&0(¢ 385 H78 BHOR) HIBAD ST, D T,

- 29T 8¢d DAFT D |28 ).

All enterocoelomates are protostomes and they exhibit radial and

mdeterminate cleavages

@30(e5 488 BosT8 2BH©R) 1HNE S0 BHen, B F5ard,
QT 0eh DEFTOD (28 3 ow.

All enterocoelomates are deuterostomes and thev exhibit spiral and
indeterminate cleavages

e30(¢5 FOE3 50576 YD), B 5305 SNPTTHEN, B D8I,

QT 6ed DAFT D (DB )" ow.

All enterocoelomates are deuterostomes and they exhibit spiral and
determinate cleavages

30| $6S Z033 YO B SBAD SNPTHEN, AN S8 IO,
QT°0ed DTN (DB )P ow.

Question Number : 45 Question Id : 4509385645 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Epithelium Example
A | Simple squamous [ | Germinal epithelium
B | Suple cuboidal II | Wall of urinary bladder
Stratified non keratinised | 11T | Lining of fallopian tubes
D | Transitional IV | Vagina
V' | Pericardium
1508 R BHGH0G
G8Y GO
A | Q8% d00 [ | 20 Gass
B | 0% oarsed I | Qoreedodh 3ocsso
C | 500633 Gored QB | I | S D0HS e 9O 630
D | grgoedd V| o
V| &)e0iraddes € 50
Options:
. A-TV B-III C-11 D-I
1.
A-V B-I C-IV D-II
2. ¢
A-V B-I C-IIT D-II
3, %
A-II B-IV C-I D-V




Question Number : 46 Question Id : 4509385646 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Statement I: Crystalline style present in stomach of pelecypods help in digestion of starches.
Statement II: Larva of sea cucumbers is auricularia
9050L: DOVTE © STHAD0S &0 HIBE Sodko Hod JoTe B (EoHS
8108,

W

©90F0-II: 0| Bo50he HoziEo e8%5TBo0r
Options :

Both the statements I and IT are correct

o QOTLI QD)

Both statements I and II are false

€90F°eN L II 0D de) S%a)

Statement I 1s true. But II 1s false

@0F0 I DA, 5° II QT IE 5°CD
3. %

Statement I 1s false. But II 15 true

@030 I DDA 5°CN. 570 I DT

Question Number : 47 Question Id : 4509385647 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following and pick up the correct combinations:

S.No | Class Features Examples

I | Polychaeta | Parapodia Pheretima

II | Hirudinea | Botryoidal tissue | Pontobdella

III | Anthozoa | Polypoid forms | Adamsia

IV | Ctenophora | Cnidocytes Pleurobrachia

800 73R @¢30H80 TR DB 0O HBohod

2.00. | Mo 8 0 RO e1A
I |8y 835 TN D8RS
I |3rdad0r | erondd dwerao | Jrodder
I |08 | rOn Graren DTS, e
IV | S50 | hod Seren I8’ (erdatr
Options :
LII
I0L. IV
. x KIV
I1. IIT
4.9

Question Number : 48 Question Id : 4509385648 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Hatchlings are precocial in

(D 06 20HEF0 3D HE VN IS DTN P GoLraw.
Options :

Struthio, Rhea and Dromaeus

. [ VBT BATT (EADD
1.4

Psittacula, Columba and Stuthio

- RDETSLER, 5 02T, [ Pe3air

Rhea, Aptenodvtes and Corvis

_ oar DS TSR, 5 R0
3.

Coracias, Dromaeus and Struthio

. SoRabd, (BADD, DS
4.

Question Number : 49 Question Id : 4509385649 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Zoological name Common name
A | Iehthvophis |1 | Toad
B | Hvla II | Limbless amphibian
C | Bufo III | Flying frog
D | Rhacophorus | IV | Tree frog
V | Salamander
1806 3R 255806
T QOHTNO T BEITHNO
A | 28arD5 |1 | FcmEn)
B | Jrer I | ssaronidared e2dahdto
C | avrsr I | AT £D)
D | o690 | IV | TEP 5
V | rodrocd
Options :
A-II B-IV C-V D-III
1. %
A-TI B-IV C-I D-III
2.
A-V B-IV C-II1 D-I
3. %
A-TIT B-1 C-IV D-II




Question Number : 50 Question Id : 4509385650 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Study the following and pick up the correct statements:
[ As the binary fission in Paramecium occurs parallel to longitudmal axis of the body. 1t 1s
called homothetogenic fission.
II.  Asthe daughter Paramecia formed after binary fission are like mirror images. the fission is
called symmetrogenic fission.
IL  Multiple fission i Amoebe is called sporulation.

IV.  Union of pronuclei of the gametes 1s called amphimixis.

806 €30 ©9¢30D0 B B @oTen HBothodk
I 2003000 SR S5 )8 Tero E0E) Aen ©FAE ddroddorr
2500 58 TR FIFHE EIE DD)S @or
I 500D S A0S O8G0 BB 2O DENAD &
636 (9B Doarerr Gotron Tl &5TND)ER IS ENE I8
©0otrd
I &% 25rad )@ F1HBad eotrd

V. D280 (350850 00050 JoDME IR ®0tr)
Options :

L H
1. %
II. IIT

0L IV

I. ITI



Question Number : 51 Question Id : 4509385651 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Pseudopodia in Actinophivs are of this type

DS IDD S GTsrren & 855208 ToctheErow
Options :

Lobopodia
S G

Filopodia
DS FHOASy

Reticulopodia

B¢3%05e5 FSOST

Heliopodia

SO A%

4,

Question Number : 52 Question Id : 4509385652 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Assertion (A): Nosema is a hyperparasite

Reason (R): It lives 1n the body of another parasite

DB350 (A) : & Dol 2.8 @O HUH) 28D

2590 (R) : @98 BOEE DT 22D BeF0eS AR S0En0d



Options :

A and R are true. R is correct explanation for A

Lo A s0OCM R A220. A SR QD o8

A and R are true. But R is not correct explanation for A

A HBON R A20. 55 A SR OB a)added 590

2 %
A is true. But R 1s false
A Q230. 5P R QB0 5°CD
3. %
A 1s false. But R is true
. A D220 5°CD. 5 R Q220
4,

Question Number : 53 Question Id : 4509385653 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

1508 e 2dHEVOG

Options :

A-TI
1. F

A-II

A-V

ATV

Question Number : 54 Question Id : 4509385654 Display Question Number : Yes Is Question

List-1 List-2
A | Parasitic castration | I | Fasciola hepatica
B | Neoplasia II | Sacculina
C | Hyperplasia III | Larvae of Fasciola
D | Hypertrophy IV | Some viruses
V | Plasmodiun
20Q-1 0 -2
A H0d) BIF RS I | Fdairer 2arddse
B | QG3ral0ir I | o
C | Zrodal o I | Jaalrer G055 en
D | 308185 IV | §3) 380 en
V | S davo
B-IV C-III D-V
B-IV C-I D-V
B-I C-IV D-II
B-V C-1 D-III




Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In these days. some sports people misuse these drugs

& B2 S8 (Sshen & SroE (03] D8R0 TYT) 8.

Options:
Opioids
2,035
Cannabinoids

E5DaTond e

Coca alkaloids

§5° @80y TN 0

Smack

o8
4. %

Question Number : 55 Question Id : 4509385655 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Chemoreceptors in Periplaneta

DOTTEr &S BaraDdeS [IrErsen
Options :

Ommatidia
250283 B



Sensillae

Scolopidia

. PSS HBO
3.

Tympanal organs

e30a0O 950 en

Question Number : 56 Question Id : 4509385656 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Location of Malpighian tubules in Periplaneta

DOTTEr S SPEOIBANS TDEeN @ELC HOEFaD

Options :

Foregut -  Hindgut

6 olet o ruit He) lefd MR e T le]
1. %

Midgut - Foregut

N nuPeernai>le] TSP OTFO
2. %

Hindgut - Midgut

0TI OISO VT LE OISO

3.¢



Stomodeum - Proctodeum

€35 5000 PO D0

Question Number : 57 Question Id : 4509385657 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Wave length of UV - A Rays

UV - A 88s7e> évS0oi 3850

Options :

50 nm — 100 nm

100 nm — 280 nm
2_ W

280 nm — 320 nm
3_ W

320 nm — 380 nm
4.

Question Number : 58 Question Id : 4509385658 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the incorrect statement

€53 YT o)) @07 (H8ohod

Options :



Both the species are benefitted in mutualism

@S s F 0 DTN ¢ Boch 22s)en ereio FPocHeron
1. %

Both species are not benefitted m parasitism

DTS 23S0 Boch 22:9@r%0 7250 B0
2.¢

Both species get harm in competition

5¢3 30D Boch Boyen dRSFeEron

3. %
One species 1s benefitted and the other 1s neither benefitted nor harmed n
commensalism
DS 2550 2.5 8 @SR 0O, HTE A8 €250
. S0 5°Q) JOCHED

Question Number : 59 Question Id : 4509385659 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0



Match the following

Pollutant Effect

Carbon monoxide | I | Global warming

Carbon dioxide I | Acid rains

Sulphur dioxide | III | Photochemical smog

gl ol ®| =

Nitrogen dioxide | IV | Headache. blurred vision

1508 ae3R 205005

5P § 505 ESEARNESW

S8y arers)e |1 | drerdo

D@56 | I | e STen

©)0 B3 6 || sosdaradas e
S

= o] e =
9
: S
: 2
&l
(@
ol
&

SB35 | IV | 030, Gaa) 0350

Options :

A-1V, B-1 C-II. D-1II

A-TV, B-1. C-II. D-II

A-TL B-III. C-IV. D-I

A—TII B-IV, C-=-0OI D-1

Question Number : 60 Question Id : 4509385660 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An infant 1s suffering from indigestion. The enzyme lacking 1s

2,8 Sedereh ey @288 HO arGIEHTYED. ) JOB S a0 HAE 5807
Options :

Amylase

ol

Eennin

D)

Trypsin

AR

Lipase

S

Question Number : 61 Question Id : 4509385661 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Inspiratory capacity 1s

S om) 5 arandso HBohod

Options :

TV + IRV + ERV
1. &

TV + IRV
2.



VC+RV

ERV + RV

Question Number : 62 Question Id : 4509385662 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which one of the following is highly toxic nitrogenous substance

B0 ¢3¢ @965506h DNHOTTS 2 D00 HTFPein

Options :

Ammonia

v 933072 0"

Urea

Aor803e

Uric acid

O08E e3a20650

Hippuric acid
ey )68 e3a20:5m



Question Number : 63 Question Id : 4509385663 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
[dentify the incorrect statement in relation to coronary artery disease (CAD)
5838 e88 3258 H0200500 H85 @07 Hdodod.
Options :

Accumulation of calcium. fat. cholesterol in coronary artery

15595, SN0, FBRTS 328 BHAS DHBEFIB0

1.
Death of myocardial cells

- TR0 BOCE Bearen YOQSFIC0
Associated with smoking

- PHEFEHE & 5708 2.8 5280
Angina pectoris is a warning signal

L, BOBT 258D 3988 H3eided

Question Number : 64 Question Id : 4509385664 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In skeletal muscle. the central part of the dark band without the thin filaments 1s called

00 E0BG0S,, Q08 HEES D51 Boehyen B Scss 2o
Options :

1. &



Z line
Z O

Sarcomere

0658 DO/ ) 000D

Hensens’s disc

v PN WSS

Krause’s membrane

i} (570 €5 CTHe0
4.%

Question Number : 65 Question Id : 4509385665 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Organ of Corti 1s located on the

80 0050 HAD GOLNOS

Options :

Tectorial membrane

BSBHS ¢ ¢50

1. %

Basilar membrane

232D € 550
2. ¥



Reissner’s membrane

T30 €8 5250

Tympanic membrane

4% SEBB 550

Question Number : 66 Question Id : 4509385666 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Match the following

List-1 List-2
A | Life saving hormones | I | Cholecystokinin
B | Hypoglycemic hormone | IT | Testosterone
C | Chief androgen III | Glucocorticoids
D | Pancreozymin IV | Insulin

1508 AR 2% HBH0G

00e-1 0d9d-2
Al are 856 3F0en [ I | 51 300
B | 20 TROME 80 |1 | ©FR0S
C | (DTS es0|BB® I | (58 s O5e 0
D | Fo|8TrBE N IV | 2e0)0

Options :

A-TII B-IV C-1I D-I
1.9

A -TII B-1V C-1 D-1I



A-IV B-III C-1 D-1I

A-1 B-1II C-1I1 D-IV
4. %

Question Number : 67 Question Id : 4509385667 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Hormone that maintains the normal rthythms of the sleep-wake cycle 15

323 YAS” T8 JET-DENHN ST FITROT FES

Options :

Adrenaline

BT

Cortisol

s8aro

Melatonin

SHOEDS

Thyroxine

. DTS5



Question Number : 68 Question Id : 4509385668 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Hormone that stimulates reabsorption of calcium ions by renal tubules and mereases the absorption

2+ '
of Ca™" from the gut is

\ b W ; y
ST SRFSTREOS FOM0 @A T aed HO o rior Ca

Parathormone

NEORAROPIS

Renin

B

Angiotensin

Vasopressin

ST D)

Question Number : 69 Question Id : 4509385669 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

These are involved m cell mediated immunity

560 8¢5 F§ DFDEHS S oD

ol o

Options :



T - cells

_— T 5720

B - cells

B — egren)

Interterons

- POLD VT REN

Interleukins

. 2oerdersEoen
4,

Question Number : 70 Question Id : 4509385670 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The term yellow body refers to
DD DY) TSI OM 52T
Options :

Corpus lutenm

v 5330 ere3aho

Corpus albicans

530 SDISR)



Grattian follicle
TPOD o)E38

Trophoblast

L v OTTY

Question Number : 71 Question Id : 4509385671 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Human chorionic gonadotropic hormone resembles this hormone in its function

37865 DTSN G (€570 |805meb E0mm & 53808 O $Hotnod

Options :

Oxytocin
238657 0S

Vasopressin

N TIPS TORTS

Somatotropin

PATE DS

Lutemizing hormone

" e05e3T20N 620



Question Number : 72 Question Id : 4509385672 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Trichomoniasis is caused by

DS TrAAT00 5256 680
Options :

Bacteria

w%@cﬁjﬁ

Fungus

30|50

Protozoan

PSS > 8D

Question Number : 73 Question Id : 4509385673 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify the mcorrect statements regarding blood groups

I. The mother with Rh™ blood group develops passive immunity on administering IgM antibodies.
II. Isoagglutinogens are sugar polymers bound to fatty acids on the RBC membrane

I11. The alleles for Rh factor are located on three different loci on chromosome pair 9.

IV, The expression of ABO blood types in man is by three alleles of a single gene

88 ST 2020009 (508 S 998 3 woF©d Hhiotod

I R &0 65050 M |DODFw (D8 92 OrdGHEs
020000

I pFeirSS2S o O 0880 502 &0B ONG ©agd 80D VTH
N0 e

I Rh S5 A0HO®0D Badg ofiaserien 9 & SIS 263 3050
TS Gotron
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Question Number : 74 Question Id : 4509385674 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Assertion (A) : The male ants are developed by parthenogenesis from unfertilized eggs

Reason (R) : The sex of offspring depends on the type of sperm that fertilizes the ovum

ARH0 (A) : W0d850 Tod Bome) OANEBIN0 T D Wedenm
NIEOITOW
5060 (R) : 0@ 28 Ooff ATYe @0mR) 20850 T Hi§i0 8o

25Hed o
Options :

A and R are true. R is correct explanation for A

ANBCIM R V20.A SR AT eded

1. %
A and R are true. But R 1s not correct explanation for A
ANBAM R AR0. 55V A SR AT adedBea 3¢
2. ¢
A 1s true. But R 1s false
. A 230, 55 R Q230 5°C0
3.
A 1s false. But R is true
. A Q20 5%CD. 55 R QB0

Question Number : 75 Question Id : 4509385675 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify correct statements regarding Human Genome Project

I The method of DNA sequencing was developed by Jeffrys.

II. Identification of genes that express as RNA 1s referred as Expressed Sequence Annotation.
II. About 1.4 million locations where single base DNA differences occur in humans

IV, Y-chromosome has 231 genes
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Options :
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Question Number : 76 Question Id : 4509385676 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Disease Located on
A | Sickle cell anaemia | T | Chromosome 16
B | Phenylketonuria II | Chromosome 7
C | Cystic fibrosis III | Chromosome 11
D | a-Thalassemia IV | Chromosome 12
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B | D30 885808 | I | |83rSen 7
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Options :

A-IV. B-I. C-II. D-II

A-Ill. B-I, C-IV, D-1I
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3. %

A-I. B-III. C-IV. D-1I
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Question Number : 77 Question Id : 4509385677 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Statement — I: Some prokaryotes evolved into mitochondria and plastids in the bodies of ancestral
eukaryotes.

Statement —II: The endomembrane system of eukaryotes might have evolved by mfolding of

plasma membrane.

00301 86 A2T0(c38 B0 $0606 Bo185¥ st s28en HBemsd (8500 &
DE 50| BT, srBSTes) 083 SeTomenm™ dEIFO.

©030-11 : SOIK8 oJU; 2ho T 190 @oddi0N0 Toddo @io
¢ 50 V065 SeTOmeN 8 )FW.

Options:

Both the statements I and IT are true

- eoozen LI D20

Both the statements I and II are false
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2. %
Statement I 1s true. But II 1s false
@030 I 0230, 55 I 230 5°¢Y
3. %
Statement I 1s false. But II 1s true
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Question Number : 78 Question Id : 4509385678 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

List-1 List-2
A | Directional selection I | Polydactylic dwarfs
B | Genetic load [T | Darwin’s finches
C | Bottle neck effect III | DDT resistant mosquitoes
D | Centrifugal selection IV | Tailed human baby
V | Sickle cell anaemia
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Options :

A-III, B-IV. C-1. D-V
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5 3 A-IIL B-IV. C-V, D-I
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A-III, B-IV. C-1, D-II
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Question Number : 79 Question Id : 4509385679 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Choose correct statements among the following
I Burd flu is a fungal disease affecting poultry.
I Propolis is bee glue used to seal the cracks in the honey comb.
III. The worlds livestock population i India and China together is more than 70%. but
contribution to world’s farm produce 1s 25% .

IV, Inactivated whole agent vaccine acts against typhoid.
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Question Number : 80 Question Id : 4509385680 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match the following

Tnstitutions Contribution

A | Indian Veterinary Research Institute | I | Storing of top quality frozen semen

B | Breeding centre at Salon 1T | Saheli

C | Eli Lilly III | Poultry vaccines

D | Central Drug Research Institute IV | Humulin production
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Question Number : 81 Question Id : 4509385681 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
If the work done W. length L and time T are considered as the fundamental quantities. the

dimensional formula for mass is
2000 DR W, 7082 L HBAM 00 T & & 2B Trrdenm 8w, 18365073

B0Y) N dangdieao

Options :
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1.¢
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Question Number : 82 Question Id : 4509385682 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A body falling freely under gravity from rest from certain height reaches the ground in a time 5 s.

The distance travelled by the body i the last two seconds of its motion 1s

W,

DT V8 N0 §06h ey DO DA 15T I R LI DTV 28 el
55 5005 2D TOD. S0y A ANdo S DB Todh odS
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Options :

98 m

44.1m

588 m

T84 m

Question Number : 83 Question Id : 4509385683 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A body is thrown with a velocity (55 + 6}_') ms 2. It's maximum height is (Acceleration due to
eravity = 10 ms %)
2,8 5002 (51 +6f) ms™! Ffod AVOIAHAIA. NS T (1B &) (Hieds

¢ 5690 = 10 ms2)
Options :

12.5m

1.8m
2. ¥

1.25m

0.9m

Question Number : 84 Question Id : 4509385684 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The motion of a particle is given by X = acost,¥ = asint and Z = t. Then the trajectory traced

by the particle as a function of time is

2,8 8620 OB08), OIS0 X = acost,¥ = asint NGO Z = t T 9 50RE. BONS

500 (OO & 8890 C0E), Do
Options :

Helix

8yersdo
1.¢



Circular

D)5 V0

2. #
Elliptical

AP SoTsB0
3. %

Straight line

HEETep
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Question Number : 85 Question Id : 4509385685 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Ablock of mass m’ is placed in equilibrium on a moving horizontal plank. The maximum

horizontal acceleration of the plank for u = 0.2 is (Acceleration due to gravity = 10 ms ™)

(955078 110 28 B0 HONS 2.8 § B ST HOED ST RSS

&) 0. i = 0.2 @00 DOF DS (10a) § 322 aIr0edd e 585ea0

((hSyed ¢ €8 ¢9ea0 = 10 ms™2)

Options:

2ms 2

1.4

3 ms™?

2.

4 ms*



5ms 2
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Question Number : 86 Question Id : 4509385686 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A body of mass 2 kg 1s placed on a smooth hotizontal surface. Two forces F; = 20 N and

F, = 10v/3 N are acting on the body in the directions making angles of 30° and 60° to the surface.

The reaction of the surface on the body 1

2kg (335077 e) 28 3o N § 832 SP0d 6307 &) &. Boh eren

F, = 20N 08000 F, = 10y3 N § 82 Sairos T 30° HB0% 60° 0 T2 IS

89 630003 ) DRTDT®) O, BONS & Se) 3 B0 SE D (NedIV;
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Options :

20N

1. %

25N

5N
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Question Number : 87 Question Id : 4509385687 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
A running man has half kinetic energy to that of a boy of half of his mass. The man speeds up by

1ms ™, 50 as to have same kinetic energy as that of the boy. The initial speed of the man s

2,6 358 TR0y A4S e 2y o 280y ey 2rend B30%) (BFES Sifo. &
¢hed FTR) Ims™ DONHOD), @B (1345 arend) HBFSE derdaihed.
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Options :

VEms_l
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2.
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— Ims
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Question Number : 88 Question Id : 4509385688 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
In a hydroelectric power station. the water is flowing at 2 ms ™" in the river which is 100 m wide

and 5 m depth. The maximum power output from the river is

28 BOVEBLOGNS 100m Iehen). 5m Sk (e SOS A 2ms~! Ffod
DaarFol). 8 36 Dok ©DOD (0 AP Fr0dso

Options :

1.5 MW

Question Number : 89 Question Id : 4509385689 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Three point masses m; m, and my are located at the vertices of an equilateral triangle of side ‘a’.

The moment of inertia of the system about an axis along the altitude of the triangle passing through

my 1s

‘> 2DBOM (10 eD02T0 (832920 P FT°0 6 my, my SO0 my (Se5THED

G3)0). my ((e35T73R) )93 @bz Tng) o) Joad SFah ©80 o &
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Options :
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(m; + ma)ﬂz

(m; + m, + m3)a®

2
a
(my + m3) &

Question Number : 90 Question Id : 4509385690 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A cockroach of mass ‘m’ 1s moving with a velocity ‘v’ in the anticlockwise direction on the rim of

a disc of radius ‘R’. The moment of mertia of the disc about the axis 15 ‘I and it 1s rotating m

clockwise direction with an angular velocity ‘w’. If the cockroach stops moving. the angular

velocity of the disc will be

m’ (3055073 e 508 B 50 Ko g FSE Dy @0 Foad ©INSBFS
v F0S §end o). 2.8 3.0 DB I Bches 2080 o 8 SyZs8 Y, ‘w’
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Options :
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[w + muR
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5 % I +mR
[w — muR
I + mR?
3. %
lew — muR
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Question Number : 91 Question Id : 4509385691 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The displacement of a particle executing SHM is given by X = 0.01 sin 1007 (t 4+ 0.05)m. Then

time period of the particle is

QoT. Do) 28 800 QS Y(2S0d0, X =0.01 sin100m (t + 0.05)m.

90N & §690 Q) BOTHGD 700 e

Options :
- 0.1s
% 0.01 s
3 % 0.2s
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Question Number : 92 Question Id : 4509385692 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The vertical extension in a light spring by a weight of 1 kg suspended from the lower end is

9.8 cm. The time period of oscillation of the spring is
BO3 28 (201 1806 27 mR8 1 kg 2608 SerddRNYD T FisHS b

9.8 cm ®ONS & |20 BOT G SO0 Densd

Options :
10w s
1.
T
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2. ¥
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3. % 8
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Question Number : 93 Question Id : 4509385693 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



An unknown gas in which each molecule has mass 0.69 X 10™%kg escaped from a planet at a
temperature T, The radius of the planet is 18 X 10°m, acceleration due to gravity is 10 ms™* and

Boltzmann constant is 1.38 X 10723 JK™%, The temperature T i
8 @EY (393077 0.69 X 107%kg $OA 285 BOOHA TAWa) 8 (Har0
G000 Nod T &el|lie SO Jerohado ToH0H. & |(fa? F5r00 18 X 10°m,
D e 3690 10ms™ OO &, DS V0080 138X 1073 K ©ONS T
)
Options :

45 x10° K
1. %

48 x 10° K
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54 x 10°K

6 x10° K

Question Number : 94 Question Id : 4509385694 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
When a tension of Fy is applied on a metal wire its length 1s L. if the tension is F,, length becomes

L,. Then the original length of the wire is
28 SO0 F, 835880 HTFROASHD T 6 L. ©F S F, Sifs6eh
IORFR) SRC8eY L, 900 e @men &rckey

Options :
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Question Number : 95 Question Id : 4509385695 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Two soap bubbles of radii R, and R, are kept in vacuum at constant temperature, the ratio of masses

of air inside them are

R, OO0 R, F5rTen o) den) 2060 DGEHS $0 508 Gowrd.
TES A0NS O B, ((e5TrHe A

Options:
m; Ry
m, R,
(I
m; R,
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Question Number : 96 Question Id : 4509385696 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The rate of emission of radiation of a black body at 27°C is E;. If the temperature increased to

327°C the emission 1s E, then E, =
27°C O 2.8 Sy S0 SIS N80 BED Ey, Gef|idad 327°C DODSYCH

GGrO0T D80 BED E;, NS E, =

Options:

4E,
1. %
8E,

16 E,

24 E,



Question Number : 97 Question Id : 4509385697 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

3 i S
Two samples of same gas (Y = E) have equal volume. If their volumes are doubled by adiabatic

and 1sothermal processes respectively for sample 1 and 2. Their final pressures are now equal. The

ratio of initial pressures is
28 O (yzg) FE, B0t SHTTO) SHDSIBITE0 KR 539,
SN 12 Dedorared DORE (25D HBAN 28 Sarredd dFFafiE [ Sohers)
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Options :
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Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A gas is initially at a state of (By, Vi, Ty). If W] is work done in isobaric expansion to volume V and
W, 1s the work done in isothermal expansion to volume V. then

28 Ty Snd B,V T) BS &5)0. A e D0 5O
DRNBTEI0 V 8 a7 502D 00 20ANN Wy, B0 Faiedad O eafifed
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Question Number : 99 Question Id : 4509385699 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Heat 15 supplied at constant pressure to a diatomic gas. The part of this heat, that was utilized to

mcrease its mternal energy is

DIES0 S 28 BLAGITFENS TAHH BT ©oHOTH, O ©0BOS
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Options :
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Question Number : 100 Question Id : 4509385700 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two 1deal gases at absolute temperature T; and T, are mixed. In this process there 1s no loss of

energy. If the molecular masses are myand m,. and mole number of the gases are ny and n,. then

the final temperature of the mixture

265 Gfidden T, HBA T, HDS Bt 8i8) Faged SN, &
HE0HS 38 Sxe0 BEABE. 3 @62 (535D my SHOOL my. &8 AV
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Options:

e n T, +n,T;
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my; T, + m,T,
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- m,Ty +n,Th

m; + m,

T=.T, + 7T,

Question Number : 101 Question Id : 4509385701 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two vibrating strings of same length. same cross-sectional area and stretched to same tension are

made of material with densities p and 2p. Each string 1s fixed at both ends. If Vy and V, are speeds

: . —_— - . v,
of transverse waves in the strings with densities p and 2p respectively. then __
2
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Question Number : 102 Question Id : 4509385702 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
If a ray of light takes t; and t, times in two media of absolute refractive indices p; and p,

respectively to travel same distance, then

2,8 508 8580 Toth SERD ordsed Kird dréo Hairdodmdd 5T
SEPE) NI AT t; DO t,. § B0 ATFIS NG DS, 523 theasen
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Question Number : 103 Question Id : 4509385703 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



If m; and m, (m; > m,) are the magnification for two position of the lens between the object and
the screen. and ‘d’ 15 the distance between the two positions of the lens. the focal length of the lens
18

505y 808 BY D5 Bodd T 6 69508106 2.8 $080 5T D)
83070 NN m; DO my € (my > m,y) S B TTO DTG0 ‘@
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Options :

My — MM

Question Number : 104 Question Id : 4509385704 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A particle of mass 'm’ having charge (—q) moves in a circular orbit of radius 'r’ around a fixed

charge (+Q). The relation between time period T and radius of the orbit 't is
(4Q) 8350 o[0T DS m’ |3:95T8 HOOMW (-q) S83F0 (fe) 2.8 $e0
T5rdod SyEsd 8856 SAMHNY, 8598 Te0 B 85 rdo e
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Options :

e Qq T3
dmeym
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Question Number : 105 Question Id : 4509385705 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Electric field itensity and electric potential at a point due to a point charge are 600 Vm™ and

—3600 V respectively, The distance of the pomt from the charge and the magnitude of the charge

are

2,8 DOy 3G, 28 Doch B S08, DS T\ &5 LD IS

FHAANS SENT 600 Vm™L HBOK — 3600 V @00 8 8330 Hod Hochs

Options:
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Question Number : 106 Question Id : 4509385706 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A parallel plate capacitor has two square plates of side 5 cm separated by 15 mm. A pyrex glass

slab of dielectric constant K= 4.5 and thickness 10 mm s placed between the plates. The

capacitance of the capacitor is
5 em 2023000 (1) IR DOFEN o) 28 SFPRED HOF aCs§ e 15 mm.

5658 VTOEAN K = 4.5, s0OC0 10 mm 0G0 205 T2 B30 O8O ¢

Options :
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Question Number : 107 Question Id : 4509385707 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The Wheatstone bridge is balanced when R3= 144 Q. If Ry and R; are interchanged. the bridge

balances for R3= 169 Q. The value of R4=
D850 6 50 M 9 (D@ S R3= 144 2 BoNS)E HohOSm ZBAIB. Ra

00 Ry O RO TS Rz = 169 © 0N 0O BOASE.
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Question Number : 108 Question Id : 4509385708 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Four identical cells, each with nternal resistance 1 Q and emf 10 V are connected 1n series to a

resistance R and they are connected in parallel and then to an external resistance R in series. For

what value of R the current in sertes and in paralle] combination 1s same?
10 9068 DB B 10V AEDSTOE 200 DA 4 50670 (368S R ©F
DBG0S D, & HErod ddrosdor 0 oF G R & 3 &
SO, R B0E) o DnSos (36 HB0D 3rosdn SOdred 28 Dens
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Question Number : 109 Question Id : 4509385709 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A coil of two turns is made of a wire length L and another coil of four turns is made from same
length L. When the same current is flowing in two coils. then the ratio of magnetic inductions at

thetr centres 13

L8Pcha) 110> s dEPA0R BOH HE) ffe) SRS SOTFRTA. 5T L sy
10 i) SHErAOD 4 LY ffe) T Bif k) SOrh TohaBSE. Boch &
DHOS, 28 S HTTSY &M 8 8Ff b SoTe ¢ 6
©0RI08 3 (S A
Options :
8:1

1. %

1:4
2. ¥

9:1

2y

Question Number : 110 Question Id : 4509385710 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A wire of 60 cm length and mass 10 g 1s suspended by a pair of flexible leads in a magnetic field
of 0.60 T as shown 1n the figure. The magnitude of the current required to remove the tension in
the supporting leads is

DEXDES LTS S0 60 cm PeSed s 10 g (535078 EOAN 2.8 S, M ey
208 110 FODSNS 0.60 T 9N 06 TS5 (FerBAANVABIE. 00

8 a W g3 5 & L4
SR B FONOTHAE THOV DS [DaFaTaidd DN

X X
X X
X X

Options :

047 A
1. %

Question Number : 111 Question Id : 4509385711 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A bar magnet of moment 0.4 X 1073 Am? is kept in a magnetic field of 2m X 1073 T. The magnet

makes an angle of 45° with the direction of magnetic field. The torque acting on the magnet is

0.4 x 1073Am? 27030 (0 2.8 SomODP 08, 2mx 1073 T e §OAN 2.8
9ODRTL0 T (Band GOODRSEH. G SaHI0SND 3B OIS 45°5an
TONDDB. 0N BOTTON0S50 DA HATOD €35y,

Options:

7.65mTx 1077 Nm

1. %

, 6.55T X 107* Nm
5.65 T X 1072 Nm

3. %

565 T X 1077 Nm
4.

Question Number : 112 Question Id : 4509385712 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Eddy currents are produced when

DG | DTN Bed 185 S0HEIE

Options:

Large piece of conductors are placed in changing magnetic flux

DC) TSI AT ) 0D 06 9)TFRE HO TOSTS
1.¢



Large piece of conductors are placed in constant magnetic flux

. D PO VGRS @OHAL) 068 @) *S HO DASrE)

A circular coil 1s placed in a magnetic field

SHTPSS SOONEND O 06b T (5065 &0Trd)

Current should be passed through circular coil

SIS E SOONSNES DEVES (DderoTTd)

4. %

Question Number : 113 Question Id : 4509385713 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
In the given LCR series circuit the quality factor is

25552085 LCR [3£3 500 G30E) theassso

108
W |
é — lé6pF
| (Y |
4H
Options :
54.6
1. %
64
2. ®

48



50

Question Number : 114 Question Id : 4509385714 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An electromagnetic wave travels in a medium of relative permeability 1.3 and relative permuttivity

2.3. Then the speed of an electromagnetic wave in that medium

2.8 Oirs80 08 N5 306 13 HOB0D 0 0 638 2.3, ©0ons &

OrS8085 [9R0:)5), RSN 08 S0l 36
Options :

3 x 10% ms™?

V3 x 108 ms™!
2. %

22%10%°ms™?

‘/'E % 102 ms™?!

Question Number : 115 Question Id : 4509385715 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When a metal surface is illuminated by a light of wavelength A . the stopping potential is V. If the
same surface is illuminated by light of wavelength 2. the stopping potential is A the threshold

wavelength is

2,8 S P03 1501550 10 508 STV TR DB FEHAHS V, T
$003 21 S501F30 flo 08 H0 ToAoDYD S FHWS -
ONd, ) 8802 edol TYso

Options:

A

24

34
3.

B | B

Question Number : 116 Question Id : 4509385716 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In hydrogen spectrum, the difference in frequencies of first and second Lyman lines 1s equal to the

frequency of
OB SEH0SR ¢ HOKD Boddsd B B0 ey P
RSPIR Drdea)ds0 $ONS 0D

Options :



Fourth Lyman line

e B B

1. %
Third Lvman line
, SIS BN OB
Second Balmer line
. 3OS ernd B
First Balmer line
203 23200 B
4.

Question Number : 117 Question Id : 4509385717 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A radioactive sample of half-life T releases an energy of 8 MeV per disintegration. If the initial

number of atoms 1s 16 X 10%°, the total energy released in a time of 3T is

N 500 T o) 2.8 BATF (78)8 KT 2.8 Dad0S 8 Me 582 Dchese

TN, TSR SO @mHe SoDE 16 X 1020 G0N 3T FO0S ARG

&0 Feo 58

Options :

17.92 x 10% ]
1.¥

8.96 x 108 ]



35.84 X 10° |

448 x 10°]

Question Number : 118 Question Id : 4509385718 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Semiconductors suitable for solar cell fabrication have a band gap nearby

¢ 0ere) HOSTEE HAE ST 8 e HE 0BG SEGT

Options :

0.015 eV

1. %

1.5eV

15 eV

150 eV

Question Number : 119 Question Id : 4509385719 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In the given figure of logic gates. if the mputs are A = 1 and B = 0 then the values of y;, y, and
Vs respectively are
35 260 ), T 200 DS VTN 4 = 15005 B = 0900, 34,75 DO

73 00000 AT

¥

Options:

1,0,0
1.

1:1:0

1,0,1

0,0,1

Question Number : 120 Question Id : 4509385720 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the radio horizon of a transmitting antenna is 21.6 km, the height of the antenna 15 (Radius of

the earth = 6.4 X 10° m)

2,8 |98 0BT, BAOST § 8230 21.6 ki @00 S0E3T) Y

(SrarsarQo =64 x 10° m)

Options :



42.25m

’|. E
54.25m
2. %
18.45 m
3. %
36.45 m
4, &
Chemistry
SectionId: 450938122
Section Number: 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40
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Clear Response:
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 121 Question Id : 4509385721 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A spectral line in hydrogen spectrum 1s due to electron transition between energy levels whose sum
and difference are respectively 5 and 3. The wavelength of it (in cm) 1s

(R = Rydberg constant in cm™)
00ch 48 Towe InBo HA Baen SO 5. 3 T ey €3 D5 JOFD
205850 30 TPBBES S80S 2.8 SEHe T ©o0d. T dEoiEs0 (em

OF) R = 8620 V07080 e’ &)

Options :
16
15R

1.¢
15

16R

2 %
16R

3 % 15
15R
16

4, %

Question Number : 122 Question Id : 4509385722 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A light of frequency x Hz when falls on a metal plate emits electrons that have double the kinetic
energy compared to kinetic energy of emitted electrons when light of frequency y Hz falls on the

same plate. The threshold frequency of the metal i Hz 15

1 Hz © e)ed50 0 508 2.8 Sar D050 HESID GTIHADS JOFTS ©
(0238 ©F Srnedon v Hz © Fysi0 10 F08 HESHDH GTERTDS
DOIFS © KB2188 BE05) B0EN0B. 6470 §AR )50 Hz O

Options :
i g
1. %
-x’_
2. % .
s
3. % ¥
2y —x
4.«

Question Number : 123 Question Id : 4509385723 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The atomic radius (in pm) of Mg. P, Si. Al respectively 1s
Mg. P. Si. Al © D857 a5 G0 (pmeeS) SO
Options :
160,143,117, 110

1. %

110, 117, 143, 160
2. %



160, 110. 117. 143

110, 160. 143, 117

Question Number : 124 Question Id : 4509385724 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Given below are two statements

Statement I: Diamagnetic Lip molecules are known to exist in the vapour phase

Statement II: According to M.O theory double bond m C; consists of both 7 bonds

The correct option is

80C) BOCR) a7 $35E0 Bad S G)

108 G0LTON

¢

525 T 27) DS Lip 960s)e0 (363050065 ST
5205 IT: MO DT 0dain (H5Ga €2 65 852005065 BO 1 205 GOEFON
Options :

Both statements I and II are correct

v S SWEEN I oDBA I TO O,

Both statements I and II are not correct

55N I 0BA I BOCH® Q8D 5%).
2. %

Statement I 1s correct. but statement IT 1s not correct

- 55 I BN, 55 5§ I SO 5°¢N.



Statement I is not correct. but statement II is correct

D5 I OB 5°CN. 5P 75§ IT OO DE.

Question Number : 125 Question Id : 4509385725 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Identify the sets of species having same bond order

D305 0SB0 e 237edred Havedredrcd Hotdod

i F2.05
ii. CO.NO™
iii. Na, O,
iv. H2. B2

The correct option 1s

HETS DD IES0

Options :
1. 11 only
| w1 S
1. 11. 1v only
i, i, iv o307 €5 3
1. 1v only
i, iv o37°(6533)
3. B

4. %



1. 11, 111 only

i, 1i. iii 30|55

Question Number : 126 Question Id : 4509385726 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The square of average speed of the argon gas at 27 °C is (in ms ™)
(R = 8.314 ] K" mol 1. Atomic weight of Ar = 40 u)
27 °C HG ST A0sY Ty drfem St 560 D02 (ms™! &)
(R =8.314 ] K tmol ™, Ar d330°e0 23200 = 40 u)

Options :

1.23 x 10°

1.59 x 10°

1.74 x 10°

151 x10°

Question Number : 127 Question Id : 4509385727 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At T(K). m a closed vessel a gas obeying kinetic theory of gases has two molecules. The kinetic
energy of these molecules 1s x; and x, J respectively. After a few collisions, their kinefic energy
15 vy and y, [ respectively. [dentify the correct relationship/s

TK) 59, 28 Srdd PsS, emiind dFom) Joth Sk Jodh
SENYOD SORANAYD. & ©EHO (838 38 SO 1, DOAD x, I §)
FETO ST P fB2dS ST 3 HO0W v, 1. SO N0/
(h8othsn

L =N

I (xgta0) . (y1ty2)
2 2

I x»n=y
V. (q-x)=01-»)

Correct answer 15
90T ASPTSw
Options:

L. II. IIT only
L IL III 507 €533

I. IIT only
I III o507 5330

II. IV only
IL IV 550°|€5 30

II only
IT o307| €530
4



Question Number : 128 Question Id : 4509385728 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following reactions is not a metal displacement reaction?

806 TS DO S 2504 1985 5°¢H?

)

Options :

2Mg(s) + TiCl (1) — 2MgCl,(s) + Ti(s)

1%

. 2A1(s) + Cry05(s) — Al,05(s) + 2Cr(s)
. 5Ca(s) + V,05(s) = 5Ca0(s) + 2V (s)
4 2Fe(s) + 3H,0(1) —» Fe;05(s) + 3H,(g)

Question Number : 129 Question Id : 4509385729 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Consider the following reaction

C,HsCl(g) - 2C(g) +SH(g) + Cl(g)

AH = 3047 kj mol ™!

The AygpqH of C—Cland C—C is 431 and 414 k] mol ™ respectively. What is the average AyzpqH
of C— HinkJ mol™?

15068 1985 2HBiEIoThHa

CHsCl(g) - 2C(g) + 5H(g) + Cl(g)

A.H = 3047 k] mol ™

C-C1 o080 C-C © ApgggH VN AT 431 o0BCIN 414 k] mol 2, i € - H
ApongH 0 (k] mol ™ o) ) W0eH?

Options :

| % 436
431

440.4

446

Question Number : 130 Question Id : 4509385730 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Given below are two statements

Statement I:  The entropy of pure crystalline solid approaches zero as the temperature approaches
absolute zero value

Statement II. For a reaction at equilibrium. A,G is zero

The correct answer 1§
180 BO 520560 A 2B
TS DG )8 TR OIS DB Hreds G|l NDDODER

$P9 50308 HeDRDOE
T T IO 28 D8 4,6 )
5608 DT
Options :

Both statements I and IT are correct

505 T DO I BOCHr QDD
1.¥

Both statements I and II are not correct

° 505 1 e0BA I BOCT B8N 50

Statement I 1s correct. but statement II 1s not correct

505 I SO, 57 58 I BT 5%

Statement I 1s not correct. but statement II 1s correct

T 505 T HOTPE 5. 57 37505 T SO

Question Number : 131 Question Id : 4509385731 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
At T(K) 3 moles of ethyl alcohol 1s mixed with 3 moles of acetic acid ina 1L vessel. At equilibrium

2 moles of ester is formed. The equilibitum constant for the reaction is
TK) &0 3 376 © HBS 80436 & 3 6 © dOBFTE 1L FSS §DrE.
NeDT S 230 2 TTO © R0 B IBNE. LI AT Ve T80

Options :

-2

4/9

Question Number : 132 Question Id : 4509385732 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

40 mL of 0.2 M CH3COOH s titrated with 0.2 M NaOH solution. How many mL of that NaOH

should be added to form a buffer solution with maximum buffer capacity?

02M D235 35T 40 mL S:DEIR 0.2 M NaOH |ToI808 69045750 20D,

2R) mL © ©F NaOH [T eSS @78 $O2:5:)0 O)B (TraIeasineid

220 Y30 (1000 GOLNOE?
Options:

20
1.4



40

2. %

10
3. %

5
4. %

Question Number : 133 Question Id : 4509385733 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What happens when HO; 1s added to an aqueous solution of ferrous sulphate n acid medium?

235 O5SE0ES DGR B (D8 Hy0p & 0D e BEDD?

Options:

Only H2 is evolved

Hy 5576830 DD e)eB 08
1. %

Fe? is reduced

Fe?" § 0088020 0d
2. %

Fe* is oxidized
- Fe¥* es§ 18800 en0d

. o B . B
H> is evolved and Fe™ 1s oxidized

H2 DGO 00 HBG5 Fe2” @35315800922¢0e006
4, %



Question Number : 134 Question Id : 4509385734 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Identify the products formed when zine reacts with sodium hydroxide solution

205, FAoho @G [TI08 O SodSYB OB Bohaariod

B0

Options :

Na»Zn0O> +~ H,O

1. %

NaxZnO> + H»
2. ¥

NazZnOsz + H.O
3_ F

NaiZnO3 + H2
4. %

Question Number : 135 Question Id : 4509385735 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The hybridisation of aluminium in the complexes X and Y respectively 1s

X 58050 Y 03l 9ersadoHo Gs) 086580 SO

! H,0
Y =— AICl; — X

g,

Options :



sp’. sp°

1. %

sp. sp°d
2. #

sp. sp>
3. %

sp. sp d’
4.+

Question Number : 136 Question Id : 4509385736 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify the correct statements about group 14 elements
I Snin+2 state is a reducing agent and Pb in +4 state is a strong oxidising agent
I[I. Thermodynamically most stable allotrope of carbon is diamond
III.  SiCls on hydrolysis gives silicic acid
IV. S has higher melting point than Pb
(°5) 14 P05 H0D0A0D SO TN D) Fod
L 4206 sned §aDH30es SHBa5 +4 DBS Pb 20T €38 )5%5€3
I &fa8 TN0 (D60 58 Grarosored Book e DG
M 20 NS SiCly, DODE 67 2N0H

IV. Pb 80T Sn 8 @O G2 0 &0tnod
Options :

1.4



I. IIT only
I TI1 30%( €5 530

IL. IIT only

IL. III 33765500
2. %

L IV only

L IV 37| ¢5a0
3. % =

II. IV only
1. IV 30765330

Question Number : 137 Question Id : 4509385737 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify the non-biodegradable wastes from the following
I Thermal power plants which produce fly ash
II. Wastes generated by cotton mills
III. Wastes produced by food processing units

IV. Slag produced from blast furnace
1800 63 10D e DD, 206 B 330 HTTOSH HE0TH N
L chid )8 T P arddd dchde T dho@moen
I e Ve Hod &b s o558 Herdren
I &3 DTTOh SOrdd T Ords) ol &eh e edhs S50 Harden

V. 279 5O H0d ST s o



Options :

I & IV only

I& IV €530
1.¢

IT & III only

IT & TII 3075330
2. %

I & III only

I & III 307 €500
3. %

II &IV only
II & IV o307 €5 330

Question Number : 138 Question Id : 4509385738 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

x g of an organic compound was analysed by Kjeldahl's method for the estimation of nitrogen. The

ammonia gas evolved from the compound was passed into 100 mL of 0.2 M HySO4, The excess of

acid required 40 mL of 0.5 M NaOH solution for complete neutralisation. What is “x” when the %

of mitrogen i it 1s 46 %?

20 HPBS FEB D AonotmdE x g © 28 §8)8 Sbgrdy e

DA, € DaP0 DO TN YTV TSV 100 mL © 0.2 M HS04

S8 0P, BLOT &) 8T O SOAEO0DTE 40 mlL © 0.5 M NaOH

PS80 ®IIEN00. TAS DR TS0 46 % BN x 0S?

Options :

1.



“

0.408
2. #

0.608
3.¢¥

0.808
4. %

Question Number : 139 Question Id : 4509385739 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The number of o bonds. 7- bonds and lone pairs of electrons present in the product Z in the given

reaction sequence are respectively

1808 t07s (855065 & )0910 Z 0830 ¢ 05PN, 1- OGN HOCK) 2,068 26

DOFD 0DS SHAT
Br
PP HHS04 _ Cu
3 X5 Uk

Options:

9.1.0
1. #®

9.0.2
2. ®

B. 2.1



S

Question Number : 140 Question Id : 4509385740 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The number of unit cells present in 5.85 g of a cube shaped crystal of sodium chloride is x X 107,
x and y respectively are (Na=23u, C1=3551)
(Na=6 X 10%mol ™)
585 g © FAAN0 DB SR 40 8y o 2.8 576350 S0k Arde) 1S ©
QDODS x X 107, x DA y DI (Na=23u, C1=35.51)
(Na= 6 x 10%mol ™)

Options :

15, 21
1.4

15,22

L)
o
¥

I~
(a2

4, =

Question Number : 141 Question Id : 4509385741 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 27 °C. x g of CaCl; was dissolved in 2.5 L of water. The osmotic pressure of resultant solution
is 0.82 atm. What isxin g? (i = 2.5; R = 0.082 L atm mol 2K 1)

27°C 56, x g CaCly D 2.5 L DS SO0, 816 |[o5ee) [ SarDIGED Dchode0
0.82 atm. x DS g O NOE?

(i=2.5;R =0.082 L atm mol™K™?)

Options :

Question Number : 142 Question Id : 4509385742 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The molal depression constant of water (K¢) is 1.86 Kkgmol™. What is the approximate
ApyeH (ink] mol™) of water if it freezes at 273 K?
A BE) rerS Dedd) e VT0ESW (Ke) 186 K kg mol ™. A5 273 K 3G sdsae0
DO %) AgyeH (K] mol O10) ) AT Oed?

Options:

3
1. %



2. ¢

3% 0
12

4. %

Question Number : 143 Question Id : 4509385743 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

At27°C, the pH of I L of aqueous copper sulphate is 5.5. This solution was electrolyzed using two

Pt electrodes for some time. What 1s the pH of remaining copper sulphate solution?

27°C 565, 1 L 50 OB 20 (s pH 5.5, & (erd) Todd Pt JoSh
ODNEFNO §08 dHaH e DS A TAOTED. MRS &) 96
DB (Taeaa) pH DOE?

Options :

¥

h

1. %

More than 5.5 but less than 7.0

- 5.5 50T 280200 5°Q) 7.0 BOT) €680,



Less than 5.5 but more than zero

v 5.5 SO 550700 570 ad®) SOB 8000

Question Number : 144 Question Id : 4509385744 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
A — P15 a fust order reaction. At 27 °C. the time taken for the completion of 20 % of the reaction

is t; min. The time taken for the completion of 80 % of the reaction is ¢, min at the same
temperature. What is the value of i—j ?

(log80 =19 ;log20 = 1.3)

A - PG 28 (250 (3308 1985, 27°C 560, 20 % TH85 sy OSIETRE HEPS I
£, min. €90 P16 G0, 80 % 385 W OSHIEFRS HEPS D t; min, ;—j 2Ne) DOEH?
(log80 =19 ;log 20 = 1.3)

Options :

2.

14



Question Number : 145 Question Id : 4509385745 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following is not correct about the adsorption?

2053°0£0 HBOD 80O 73S DA HOTDID 57D

Options :

Physical adsorption is not a specific in nature

2795 0O FAE20 N 5eFH0eS DBReh E5BTHED

In adsorption AG. AS and AH are negative

i 9 TTAEIOS AG, AS SHOC) AH € 220ET¢5 250
2

C2H50H acts as auto catalyst in the hiydrolysis of ethyl acetate
B VT 20 BN 985S CHO0H 5000 &(B)BE0m HA

o)
- TR0

. ; : X L ¢
In Freundlich adsorption isotherm — k.Pn the value of ~isin between 0 to 1

[FrON0oGR @O N ST O —= k. Pr S i DN 0 DO 1

SN O

Question Number : 146 Question Id : 4509385746 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The Tyndall effect is observed only when the following conditions are satisfied
(A) The diameter of the dispersed particle is much smaller than the wavelength of the light used
(B) The diameter of the dispersed particle is not much smaller than the wavelength of the light
used
(C) The refractive indices of the dispersed phase and the dispersion medium differ greatly
(D) The refractive indices of the dispersed phase and the dispersion medium are almost sumilar

il magnitude

%5806 D0HreD FPE0AINIE SoTO HOTR)), el TITE fenthErsn
(A) FTd 370 00 Gadriodd soe ddof TEo 50T S5y
GOwe)
(B) SPo0&E 50 aP50 Gdirfiods soe edolf TYs0 $0B) wrer ey
T GOCBICCD
() D82 (. D Hea ASTRE0e |5eS theado H¢ss Bedo wbsor Gowe)
(D) DS 2 o7, I3 89 OiTeE0) (525638 D80 s0ehg B0 Ty Aderorr
GOE)
Options :
(A)and (C)
(A) a3 (C)

1. %

(A)and (D)
- (A) DBCN (D)

(B) and (C)
L (B) o0 B (C)

4. %



(B) and (D)
(B) o8G5 (D)

Question Number : 147 Question Id : 4509385747 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
The correct statements regarding Hall-Heroult process are
1. Steel vessel with lining of carbon acts as anode
11. Purified Al, 05 1s mixed with cryolite
iii. The overall reaction1s 2Al,0; + 3C — 4Al 4 3CO,
SFS-TFO HOS 8 H00B0D DTS a5V
i SR SF &5 VeV S TP 9595T B0
i DO TS ALO; D EBE & Eensymrh

. 200 HSs 241,05 + 3C — 4Al 4 3C0,
Options :

1. 11, 111

ii, iii o307 €5 a0

2.

1. 111 only

i, 1ii 63075530



1. 11 only

i, i1 37| 5500
4, %

Question Number : 148 Question Id : 4509385748 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Which of the following reactions 1s not correct with respect to products formed?

203 (§aSrEmrse HE0M [§08 & 1385 BTG 07 (dilute = DOS; cone, =TPCH)
Options:

3Cu + 8HNO;(dilute) — 3Cu(NO5), + N, O + 4H,0
1.¢

47Zn + 10HNO;(dilute) — 4Zn(NO3), + N,0 4+ 5H,0
2. %

Cu 4+ 4HNO;(conc) — Cu(NO;3), + 2NO, + 2H,0

Zn + 4HNO;(conc) — Zn(NO;3); + 2NO, + 2H,0
4. %

Question Number : 149 Question Id : 4509385749 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Identify the correct statement from the following

808 7€ D0& SO g5 hOothHAn

Options :



UK “copper’ coins are Cuw/Ni alloy

UK ‘O 0°eg°e0 Cw/Ni 21 #6057 530

1. %
AgBr has special light-sensitive properties
|, AdBr 0 10BERD 5P0B3-A8  (ITeT°5 GOT°1EN0ETON
Ti?*. V¥, Cr™" are strong oxidising agents
TiZ. V¥, 02 o) 200 @38 )586 sedsen
3. %
The magnetic moment of V2" is 2.84 BM
V" @900 27080 2.84 BM
4. %

Question Number : 150 Question Id : 4509385750 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
[Ni(H,0)¢]*" on reaction with ethane -1, 2-diamine forms violet colour complex. Its formula and
magnetic property respectively are
Ni(H,0) ], SFS-1 2-B DS & 905 T8 oS ereso ot Koy H0Fr)
DOYDD0E. TR TFHEr B WOHAP08 & 3270 SR

Options :
R 4 g B .
[Ni (H20)4 en]~". Paramagnetic nature

[Ni (H20)4 en]?. QU@ODI)L065 & £2T°00
1. %



[Ni (H20)> enz]*". Diamagnetic nature

[Ni (H20)2 en2]”". ¢405°ea00°).065 & §23°00

2. ®
[Ni (en)3]”". Paramagnetic nature
y [Ni (en)s]” 0TPONTL0H 52000
3.¢
[Ni (H2O)2 ens]”". Paramagnetic nature
[Ni (H20)2 en2]”". 2)T@00T) 065 & 52790
4. %

Question Number : 151 Question Id : 4509385751 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following polymer used in the manufacture of paints and lacquers?

BoOTAS 2 TOKD & DANo e SO O ToMhen Saird FoHES

TOE O’

Options:
Melamine
I

1. ® =

Glyptal

Oare

2. 7



Nvlon 6

ST 6
3. %

Nylon 6.6

BT 6.6

a_

4. %

Question Number : 152 Question Id : 4509385752 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following molecules is not having glvcosidic linkage?
805 85 50BS @mHOS & TFRAS 205 O Bh?
Options :

Sucrose

o825

Glucose

(8%

Maltose

JrS
3. %

Cellulose

enseSeS



Question Number : 153 Question Id : 4509385753 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following represents double stranded helix structure of DNA?

806 ¢3S 6 DNA Boch rahe 5 ) QT7erd) SN 06?

Options:




Question Number : 154 Question Id : 4509385754 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is insoluble in water?

1BO& a7¢365” DO DE3S ESiich?

Options :



CHE(CHEJIDCH:EOSOENH

1. %
&P @
[CH3(CH; ), 5 ~N(CH;); |Br
2. %
CI?HEE {:ODN&
3. %
(C47H35C00),Ca
4.

Question Number : 155 Question Id : 4509385755 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The product of Finkelstein reaction X, 1s not used m which of the following named reaction?

DS 86 DO 93 61520 X 5 (508 & DO B85S DT AOD?
Options:

Wurtz reaction

&005 0958

Wurtz-fittig reaction

& 0% -0 WYy

Williamson reaction

DEON N D TGS
3. %



Fittig reaction

33 ¢
Lo YA 5

Question Number : 156 Question Id : 4509385756 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What are X. Y and Z in the given reaction sequence?

AD IS HTHENOS X, Y 080 Z &0 DD?

Cl
R X (1) CHCl, / NaOH
L) I — - 2
F ; (Major)
fertd (PF)
Options :
oH

CHO

() NaOH. 623 K. 300 atm - C,H.0H :
H'

1.¢

oH OH

OH

(i) NaOH. 443 K
Gi) H

|



OH CHCL

oH
(i) NaOH. 368 K
(i) H
OH CH
(1) NaOH, 443 K
(i) H™
OH
CHO

Question Number : 157 Question Id : 4509385757 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Cumene on oxidation in the presence of air gives a compound X. This in the presence of dilute acid

eives Y and Z. The total number if sp? carbons in Y and Z is

b = W, &
Bz 0 6 a8 06 838188690 TR X 898 35308300 2008, AR Hze
; i b
S80S )8 BOVB Y 000N Z €0 B chEaw. Y ok Z 06 Q Ino sp?
SO0 © DODS

Options:

1. % &

3.¢



Question Number : 158 Question Id : 4509385758 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What are the reagents X and Y respectively used in the following reaction sequence?

800 Bor58508 &IRPAON U0 X sHBOM ¥ 0 SEIMT IN? (cone.= Tel)

R—C=N —2— (A)—— R—CH,
Options :
ZnCl, ; Conc. HCl . (i) SnCl,, HCl (ii)Hz0%
(i) SnCl,, HCl (ii)H;0% . Zn — Hg|Cone. HCI
2.V
Lhale4 3 NHBHd,
3. %

(i) DIBAL — H (ii)H,0 . LiAlH,

Question Number : 159 Question Id : 4509385759 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Identify Z in the following reaction sequence

1808 BS5T75BENOCS Z & (HB0t55W. (Anh = @95 F)

=t

CH,COCI (1) KMnOg4 | OH" (i) NH
- X = =
Anh AICl, VAN (i) A
(ii) HRO™
Options :
NH,
1. #®
COOH

2. %
CONH,
CHoNH
| s
o

Question Number : 160 Question Id : 4509385760 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Aniline on direct nitration at 288 K gives 51 % (A). 47 % (B) and 2 % (C). ‘B’ on diazotisation,
followed by reaction with CuCN | KCN gives a compound X. The percentage of nitrogen m X 1s
(C=12u,H = 1u,0 = 16u,N = 14u)

IOD ) 288 K 56 Toom FHad T2 51% (), 47% (B) O 2% (€) &
DEBTOD. ‘B & S0DSEIEGE0 T2, € TR 165 CuCN| KON & 1985 2028 X 96
D850 6 1B08. X S0 FEB T0

(C=12u,H = 1u,0 = 16u,N = 14u)

Options :

28.92

18.92
2. ¢

38.92

48.92
4. %



